Notice: Fill out COMPLETELY and return to Conservation Division at the address below within 60 days from plugging date.

Kansas Corporation Commission Oil & Gas Conservation Division

WELL PLUGGING RECORD K.A.R. 82-3-117

Form CP-4 March 2009 Type or Print on this Form Form must be Signed All blanks must be Filled

| OPERATOR: License #: | 6044 | | | API No. 1 | 5 - <u>035-19440-</u> | 00-00 🔨 | <u></u> |
|---|--|---|--|---|--|------------------------|----------------------------|
| | • | C | | i Spot Desc | cription: | | |
| Address 1: <u>1625 N. V</u> | Naterfront Parkw | ay, Suite 200 | | * | | - | 4 East West |
| | | <u> </u> | | Feet from North / South Line of Section Feet from East / West Line of Section | | | |
| | | KS zip: <u>.67.206_</u> + | | | | | |
| Phone: (316) 440-76 | · · · · | | | Footages | Calculated from Near | | |
| | | OG D&A Cathod | lic | | ☐ NE ✓ NW [| | |
| | | SWD Permit #: | | | | | /ell #: _1 |
| | | Storage Permit #; | | | Completed: 1928 | | /eli #: |
| Is ACO-1 filed? Yes | No If not, is v | vell log attached? 🔲 Yes 💆 | ∕] No | | ging proposal was appr | | /2011 (Date) |
| Producing Formation(s): List | | • | | | | | CC District Agent's Name) |
| None Depth | | ttom: T.D | | | Commenced: 6/20/ | | |
| | | ottom: T.D | | Plugging (| Completed: 6/23/ | 2011 | • |
| Бериг | ю юр во | 1.U | _ | | | | |
| Show depth and thickness of | f all water, oil and gas for | mations. | | | | | |
| Oil, Gas or Wate | ar Records | | Casing i | Record (Surf | face, Conductor & Produ | ction) | |
| Formation | Content | Casing | Size | | Setting Depth | Pulled Out | |
| | | Surface | 8-5/8 | | 105' | None | |
| | | | | | | | |
| | | | 1 | | | | |
| | | - · · · · · · · · · · · · · · · · · · | - | | | \ <u></u> | |
| | | <u> </u> | <u> </u> | | | | |
| 6/22/2011 Clean o tubing and bit to 26 6/23/2011 RIH wit | used, state the character ut well to 1730' v 2' and pump 300 | gged, indicating where the mud of same depth placed from (bot vith 4-7/8" bit and 2-7) sacks cement. Cem cement at 110'. Pur | ttom), to (7/8" tub nent di | (top) for each ping. Pui id not cire | h plug set. Imp 50 sack plu culate. POOH | g at 1727'. w/ tbg. | POOH with |
| to surface. | | | | | | | DECENTED |
| All cement was 60/ | 40 pozmix conta | ining 4% calcium chlo | oride 4 | 4% del : | and 1/4 #/sk ce | lloflake | RECEIVED |
| , oo,,,o,,, | To pozimix doma | ining 1770 Saloidiff Sylic | ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, | + 70 goi, c | and 174 77510 00 | iioliako. | JUL 07 2011 |
| Plugging Contractor License | #: 6044 | | Name: _ | Stelba | r Oil Corporation | n, Inc. | -KCC WICHIT |
| Address 1: 1625 N. W | aterfront Parkway | y, Suite 200 | Address | : 2: | ····· | ·· | |
| City: Wichita | | | | State: _ K a | ansas | zip: <u>672</u> | <u>'06</u> + |
| Phone: (316) 264-8 | 378 | | | - | | | |
| Name of Party Responsible for | or Plugging Fees: <u>Ste</u> | Ibar Oil Corporation, I | nc | | | · | |
| State of Kansas | County | Cowley | | , ss. | | | |
| Roscoe Mendenhall | (Print Name) | | | _ 🔽 Em | ployee of Operator or | Operator o | n above-described well, |
| being first duly sworn on cert the same are true and correct | | ledge of the facts statements, a | nd matter | rs herein con | ntained, and the log of | the above-descr | ibed well is as filed, and |
| Signature: | | /mgwha | | | | 10/2 | 011 |

Mail to: KCC - Conservation Division, 130 S. Market - Room 2078, Wichita, Kansas 67202



REMIT TO

Consolidated Oil Well Services, LLC Dept. 970 P.O. Box 4346 Houston, TX 77210-4346 MAIN OFFICE P.O. Box 884 Chanute, KS 66720 620/431-9210 • 1-800/467-8676 FAX 620/431-0012

| NVOICE | Invoice # | 242266 |
|----------------------|---|----------|
| | ======================================= | ======== |
| invoice Date: 06/29/ | 1 | Page 1 |

STELBAR OIL CORP., INC. SUITE 200 1625 N. WATERFRONT PARKWAY WICHITA KS 67206-6602 (316)264-8378

MAGNUSON #1 31045 14-30S-4E 06-22-11 KS

| Part Number | Description | Qty | Unit Price | Total |
|--------------------|-------------------------|---------|------------|---------|
| 1131 | 60/40 POZ MIX | 350.00 | 11.9500 | 4182.50 |
| 1118B | PREMIUM GEL / BENTONITE | 1400.00 | .2000 | 280.00 |
| 1102 | CALCIUM CHLORIDE (50#) | 560.00 | .7000 | 392.00 |
| 1107 | FLO-SEAL (25#) | 75.00 | 2.2200 | 166.50 |
| Description | | Hours | Unit Price | Total |
| 434 80 BBL VACUUM | TRUCK (CEMENT) | 3.00 | 90.00 | 270.00 |
| 446 P & A OLD WELL | | 1.00 | 655.00 | 655.00 |
| 446 EQUIPMENT MILE | AGE (ONE WAY) | 31.00 | 4.00 | 124.00 |
| 491 TON MILEAGE DE | LIVERY | 492.59 | 1.26 | 620.66 |

JUL 0 7 2011
KCC WICHITA

| | | =========== | ====== | | =======: | ====== | |
|---------|---|-------------|---------|---------|----------|--------|--------------|
| Parts: | | Freight: | | Tax: | 341.43 | | 7032.09 |
| Labor: | .00 | Misc: | .00 | Total: | 7032.09 | | |
| Sublt: | .00 | Supplies: | .00 | Change: | .00 | | |
| ======= | ======================================= | | ======= | | | : | ============ |
| | | | | | | | |

BARTLESVILLE, OK 918/338-0808

Signed

ELDORADO, KS 316/322-7022 Eureka, Ks 620/583-7664 GILLETTE, WY 307/686-4914

OAKLEY, KS 785/672-2227 Ottawa, Ks 785/242-4044 THAYER, Ks 620/839-5269

Date

WORLAND, WY 307/347-4577



ENTERED

TICKET NUMBER 31045
LOCATION /80

| PO Box 884, Ch | anute, KS 667 | 20 4 | LD TICKET & | | | ORT | | |
|----------------|---------------|-------------------------|---------------|--------------------|---------------------------------------|-------------------|--|--|
| 620-431-9210 d | | MAGNI | | EMEN | | | | **** |
| DATE | CUSTOMER# | WELL | NAME & NUMBER | _ | SECTION | TOWNSHIP | RANGE | COUNTY |
| 6-33-11 | 7394 | ROCK | 11-19 | | 14 | 395 | 40 | Cowley |
| CUSTOMER | Las Po | 1 Con 15 | Juc M | 1 194 | | DRIVER | | 28.45 |
| MAILING ADDRE | BAIL VI | 1 100 | W | | TRUCK# | T | TRUCK# | DRIVER |
| 1695011 | 1) And FROM | A Please | 16200 | 3 | 7101 | 1 | | |
| CITY C | i contraction | ISTATE | ZIP CODE | | Fish | MACOU | - | |
| 1. W. 10 | | 4 /4 | 67206 | ַנַץ־ | 1/21 | 124 | | |
| JOB TYPE UC | R | 1101 5 0175 | | LE DEPTH | 752 | CASING SIZE & | NEIGHT 852 | 1004 |
| - | • | HOLE SIZE | | BING 2 | 6 1 1 PM C | CASING SIZE & | OTHER | 700 A |
| CASING DEPTH | | DRILL PIPE | | TER gal/si | 2 10010 | CEMENT LEFT In | • | |
| SLURRY WEIGHT | | SLURRY VOL DISPLACEMENT | - | (PSI _. | <u> </u> | RATE | CASING | - |
| REMARKS: | 2007 | do 2% | 1,10. | | 727 4 | - Mar | n and | · hoken |
| LALO AL | SOF DUP | 9\.0 = | | M | 1 | 2 0 0000 | TI III | - |
| TIME | CANOT M | 2000- | 1/4 IS TO | 4 1 | 00 - | 10/40 | 2 000 | 240 CHELLE |
| | TY 9 UN | <u> </u> | 4- Meny | O CA | 411/1/20 | 60/90 S | 3 | XID CHESCE |
| TY 6 XXX | 4-410 | Poly 0 | DICKNOT | CON | WATE 9 | o surgo | ce, | |
| _ | | - | | | | | | |
| | | | <u> </u> | | | | | |
| | | | | | | | | |
| | | | | | | | | |
| | | | | - | | | | |
| ACCOUNT | | | Т. | | | | 1 | |
| CODE | QUANITY | or UNITS | DESCR | RIPTION of | SERVICES or PR | ODUCT | UNIT PRICE | TOTAL |
| 5405A | | 1 | PUMP CHARGE | | | · | 65500 | 65500 |
| 540/2 | | 31 | MILEAGE | | | | 4.00 | 124,00 |
| 3.24 | | | | • | - | | 1 | |
| 7/2/ | | 350 | X5 60KD | Poz | | | 11.95 | 4182.50 |
| MIRR | | 1400 | 16. 3-8 | | | - | 260 | 280,00 |
| 1102 | | 560 | The Carly | <u>t.</u> | | • 0 | 70 | 392.00 |
| 1107 | | 75 | ibs Poly-F | Jale - | | | 2,22 | 166.30 |
| 1101 | | 75 | The Poly | 77772 | | | CA PALAS | 100 |
| GLAT | | 31 | 10.11/10 | D | 4 8 15.09 | Charac | 1,26 | 620.66 |
| 5407 5502C | | 31 | WILL TOP | TWAN | 4 1 1 1 1 1 | SPICE | | 270.00 |
| 3502C | | <u> </u> | 80 VAC | • | . | <u> </u> | 90.00 | |
| | | | | | | | REC | EIVED |
| | | | <u> </u> | | | | | 0 7 2011 |
| | | <u> </u> | | | | | JUL | 7 2011 |
| | · | | | | · · · · · · · · · · · · · · · · · · · | | - Recei | MCLITA |
| | | | | | | | T NOC I | VICHITA |
| - | | | | · | | | | |
| | | | | | | (1//// | | 1.90 |
| | | | | | | Subtokal | | 6690.66 |
| Ravin 3737 | | | <u> </u> | ··· | | | SALES TAX ESTIMATED | 34143 |
| -earth Oron | Rot W | ٠. | Ò | 499 | العلع | | TOTAL | 103309 |
| AUTHORIZTION_ | Koh W | llea- | | LE | | | DATE | |
| | | | | | | | - - | |

I acknowledge that the payment terms, unless specifically amended in writing on the front of the form or in the customer's account records, at our office, and conditions of service on the back of this form are in effect for services identified on this form.



REMIT TO

Consolidated Oil Well Services, LLC Dept. 970 P.O. Box 4346 Houston, TX 77210-4346 MAIN OFFICE P.O. Box 884 Chanute, KS 66720 620/431-9210 • 1-800/467-8676 FAX 620/431-0012

STELBAR OIL CORP., INC. SUITE 200 1625 N. WATERFRONT PARKWAY WICHITA KS 67206-6602 (316)264-8378 MAGNUSON #1 31077 14-30S-4E 06-23-11 KS

| | | | ============= | |
|-------|------------------------------|---------|---------------|--------|
| | Number Description | Qty | Unit Price | Total |
| 1131 | 60/40 POZ MIX | 75.00 | 11.9500 | 896.25 |
| 1118B | PREMIUM GEL / BENTONITE | 300.00 | .2000 | 60.00 |
| 1123 | CITY WATER | 3000.00 | .0156 | 46.80 |
| | Description | Hours | Unit Price | Total |
| 290 | P & A OLD WELL | 1.00 | 655.00 | 655.00 |
| 290 | EQUIPMENT MILEAGE (ONE WAY) | 31.00 | 4.00 | 124.00 |
| 434 | 80 BBL VACUUM TRUCK (CEMENT) | 2.00 | 90.00 | 180.00 |
| 491 | MIN. BULK DELIVERY | 1.00 | 330.00 | 330.00 |

RECEIVED
JUL 0 7 2011
KCC WICHITA

| | | | | | =======: | ====== | ============== |
|--------|---|-----------|-----|----------|---|--------|----------------|
| Parts: | 1003.05 | Freight: | .00 | Tax: | 68.21 | AR | 2360.26 |
| Labor: | .00 | Misc: | .00 | Total: | 2360.26 | | 2333324 |
| Sublt: | .00 | Supplies: | .00 | Change: | .00 | | |
| | ======================================= | | | ======== | ======================================= | ====== | |

Signed______Date____

BARTLESVILLE, OK ELDORADO, KS 918/338-0808 316/322-7022

Eureka, Ks 620/583-7664 GILLETTE, WY 307/686-4914

Oakley, KS 785/672-2227 OTTAWA, Ks 785/242-4044 THAYER, KS 620/839-5269 WORLAND, WY 307/347-4577

CONSOLIDATED Oli Well Bervises, LLC



TICKET NUMBER_ LOCATION#80 ELDO FOREMAN Jacob Storm

ox 884. Chanute, KS 66720

FIELD TICKET & TREATMENT REPORT

| YTNUC |
|---------------------|
| |
| mlcy_ |
| 50,450 |
| RIVER |
| |
| |
| |
| |
| |
| |
| |
| comend |
| |
| |
| |
| |
| |
| |
| |
| |
| |
| OTAL |
| |
| 5,00 |
| 55,00 U |
| |
| 4 |
| 0,00 |
| 6,25 |
| 6,25 |
| 6,25 |
| (,25°) (,80°) |
| 6,25 |
| 6,25 0.00 .80 |
| (,25°) (,80°) |
| |

2498⁰4 AUTHORIZHON CELLIN KPM

Ravin 3737

DATE

Subtoki

SALES TAX

ESTIMATED TOTAL

I acknowledge that the payment terms, unless specifically amended in writing on the front of the form or in the customer's account records, at our office, and conditions of service on the back of this form are in effect for services identified on this form.